
3 less than 7 is

7 - 3 =0 1 2 3 4 5 6 7 8 9 10

In each row, color the 2 numbers that make 5.

Complete the number bond.1

2

Kindergarten
Thanksgiving Worksheet

For the answer key, go to
blog.sparkedu.com/thanksgiving-worksheets
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Count back, then write the correct answers.

http://sparkedu.com/
http://blog.sparkedu.com/thanksgiving-worksheets


Ivan has                       marbles altogether.

The turkey is about                               s  tall.    

15 - 3 = 20 - 6 = 

Color all the triangles green.6

7

Complete the subtraction equations.8

Fill in the blank.5

1 o'clock

4 Read the time.
Draw the missing hour hand on the clock.

Ivan has 9 big marbles and 8 small marbles. How many marbles does Ivan have altogether?
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